Original Article

Access this article online



Website: www.jehp.net DOI: 10.4103/jehp.jehp 248 23

Department of Conservative Dentistry and Endodontics, A. J Institute of Dental Sciences. Mangalore, Karnataka, India, 1Department of Conservative Dentistry and Endodontics, Manipal College of Dental Sciences, Manipal, Manipal Academy of Higher Education, Karnataka, India, ²Undergraduate Student, St. Jude's Academy, Ontario, Canada, ³Department of Data Science, Prasanna School of Public Health, Manipal Academy of Higher Education, Manipal, Karnataka, India

Address for correspondence:

Dr. Arun Mayya, Department of Conservative Dentistry and Endodontics, Manipal College of Dental Sciences, Manipal, Manipal Academy of Higher Education, Manipal - 576 104, Karnataka, India. E-mail: mayya.arun@ manipal.edu

> Received: 22-02-2023 Accepted: 27-03-2023 Published: 30-06-2023

Quality of life in patients with alcohol use disorders admitted to de-addiction centers using WHOQOL-BREF scale—A cross-sectional study

Ashwini S. Colaco, Arun Mayya¹, Caitlyn Noronha², Shreemathi S. Mayya³

Abstract:

BACKGROUND: Alcohol use disorders (AUDs) adversely affect a person's general health and the lives of their family and friends. These disorders are also the most undertreated mental illness with severe implications for public health. Hence, the present study aimed to employ the WHOQOL-BREF to assess the quality of life (QoL) of AUDs patients seeking treatment at de-addiction centers and identify the demographic variables associated with the QoL dimension scores.

MATERIALS AND METHODS: A cross-sectional study was conducted among alcohol dependents taking treatment in de-addiction centers in Dakshina Kannada District, Karnataka. The WHOQOL-BREF questionnaire was administered to 124 subjects. Multiple regression analysis was carried out to identify the demographic variables associated with the QoL dimension scores.

RESULTS: The domain mean scores were between 50 and 60 on the 0 to 100 scale. Age, social class, residential area, marital status, and years of drinking were the demographic variables found to be significantly associated with the dimension scores.

CONCLUSIONS: Physicians should monitor the effect of alcoholism on QoL, and a multidisciplinary treatment plan with elements from the medical, social, and psychiatric fields should be used. The demographic variables should be considered while managing patients with AUDs.

Keywords:

Alcohol abuse, alcohol disorders, quality of life, WHOQOL-BREF

Introduction

A lcohol use disorders (AUDs) are among the most common mental illnesses worldwide and primarily affect men. Such conditions impede a person's ability to control their alcohol intake. Despite severe adverse effects on their general health, the lives of their family and friends, and society at large, they consistently display a substantial and frequently growing pattern of alcohol use.^[1] AUDs are one of the most undertreated mental illnesses with serious implications for public health.^[2] Loss of control over alcohol consumption, compulsive alcohol use, and a negative emotional state when not drinking are characteristics of AUDs, which can have a long-term, recurrent course. AUDs are defined by the Diagnostic and Statistical Manual of Mental Disorders (DSM) and the International Classification of Diseases (ICD) by operational criteria: "continued alcohol use despite negative psychological, biological, behavioral, and social consequences, of which a minimum number must be met during the same 12-month period to qualify for the diagnosis."^[3]

The World Health Organization's (WHO) Global status report on alcohol and health of 2018 presents a comprehensive report

How to cite this article: Colaco AS, Mayya A, Noronha C, Mayya SS. Quality of life in patients with alcohol use disorders admitted to de-addiction centers using WHOQOL-BREF scale—A crosssectional study. J Edu Health Promot 2023;12:196.

For reprints contact: WKHLRPMedknow_reprints@wolterskluwer.com

© 2023 Journal of Education and Health Promotion | Published by Wolters Kluwer - Medknow

This is an open access journal, and articles are distributed under the terms of the Creative Commons Attribution-NonCommercial-ShareAlike 4.0 License, which allows others to remix, tweak, and build upon the work non-commercially, as long as appropriate credit is given and the new creations are licensed under the identical terms.

on alcohol consumption and states that more than 3 million people die every year due to the harmful use of alcohol. This represents 1 in 20 deaths, implying that AUD is a serious global disease that burdens and threatens the development of healthy societies.^[4,5] The WHO defines health as complete physical, mental, and social well-being and not merely the absence of disease or infirmity.^[6] The concept of quality of life (QoL) is becoming an essential outcome measure of health care and is employed to attain the patient's subjective view of overall well-being. It serves as an additional perception to a conventional disease-specific perspective. This comprehensive evaluation is instrumental in improving patient living conditions, recognizing that measures of disease status alone are insufficient to describe the burden of illness.^[7]

Since AUD can severely affect patients and their families, a comprehensive method such as QoL measurements should be used to quantify the improvement in their treatment outcome. Donovan and colleagues claim that while evaluating individuals with AUD, QoL is a crucial component. Clinically, these measurements can help encourage patients to persist with their treatments and quit their alcohol misuse or dependence.^[8]

QoL has slowly but surely become a valuable concept during the past two decades, used in clinical trials for therapeutic interventions or as an outcome indicator for evaluating services and programs. It estimates how an illness affects a person's daily functioning, paying close attention to physical or psychological impairments.^[9]

WHO claims that QoL aids in evaluating an individual's perceptions in light of their culture, value systems, and personal objectives. As a result, WHOQOL instruments were created collaboratively in numerous centers across the globe and underwent extensive field testing.^[10] Since the WHOQOL-BREF is a condensed form of the original instrument, it is more practical. It has numerous uses in research investigations and clinical trials and comprises 26 items. Important domains like physical health, psychological health, social health, and environment are measured by the WHOQOL-BREF instrument. Hence, it gives us an insight into the overall well-being of the patients. All healthcare centers should restore physical health and enhance the QoL to attain a state of overall well-being.^[11]

QoL has been shown to decline in studies on alcohol-dependent people, but little is known about how QoL changes after a treatment intervention. There is a dearth of material on the QoL in treatment centers for alcoholism. Hence, this study aims to employ the WHOQOL-BREF to assess the QoL of AUD patients seeking treatment at de-addiction centers and identify the demographic variables associated with the QoL dimension scores.

Materials and Methods

Study design and setting

This descriptive cross-sectional study was conducted from January 2022 to May 2022 among Alcohol dependents taking treatment in de-addiction centers in Dakshina Kannada District, Karnataka State.

Study participants and sampling

The study participants were alcohol dependents taking treatment in de-addiction centers. This included male and female patients aged between 18 years and 76 years admitted to the de-addiction center for a duration of fewer than 4 weeks with a diagnosis of Mental and Behavioral disorders due to the use of alcohol (ICD-10 F10.2). While patients with a history of multiple substance abuse/dependence except for tobacco, patients with any known neurological condition, withdrawal symptoms, uncooperative patients, and seriously ill patients were excluded from the study.

The sample size required to estimate the WHOQOL-BREF domain scores with an error margin of 20% of the standard deviation at 95% confidence level is 97. Green suggests n >104 + m (where m is the number of independent variables) for testing individual predictors in regression analysis. The sample size required for regression analysis in the present study was 110 (m = 6, the number of demographic variables).^[12] A total of 124 subjects responded to the present study.

Data collection tool and technique

The data collection tools used in this study included sociodemographic details which included gender, age, marital status, social class, residential area, and years of drinking, and the 26-item WHOQOL-BREF questionnaire. The appropriate data collection was carried out by interviewing every patient and maintaining strict privacy, confidentiality, and empathy.

The modified Kuppuswamy scale (update for February 2019) was used to assess the social class of the participants. The WHOQOL-BREF questionnaire contained 26 items across all four domains and a self-assessment section, and responses were recorded using an individual five-point scale (1–5). The four domain scores represent an individual's perception of each domain's QoL.

Ethical consideration

After getting approval from the institutional ethics committee (IEC/ENDO21/101/V1), the study population was explained about the study, confidentiality, and their

rights to participate or not to participate in the study. Once the study participants had expressed willingness to participate, each participant filled out and signed an informed consent form.

Statistical analysis

The data analysis was carried out using the software *jamovi* (version 2.3), a free statistical software program. Demographic variables were summarized by computing frequency and percentages in each category. The three items, 3, 4, and 26 of WHOQOL-BREF, were reverse scored for the computation of domain scores and further analysis. Domain scores were computed and then transformed to 4–20 and a 0–100 scale, as explained in Appendix 10 (Page 106) of the WHOQOL user manual. The scores were summarized by computing mean and standard deviation. Multiple regression analysis was performed to identify the demographic variables associated with WHOQOL dimension scores.

Results

A total of 124 subjects responded to the present study: 92 were males, and 32 were females. The age range of the participants was 26 to 63 years, and the mean (SD) of the participants was 45.65 (8.66) years.

Reliability of the WHOQOL-BREF domains was assessed by computing Cronbach's alpha. The alpha coefficient for the sub-domains was physical, 0.54; psychological, 0.69; social, 0.57; and environmental, 0.53, respectively.

Table 1 shows the distribution of demographic characteristics.

Table 2 shows the summary of scores for the WHOQOL-BREF domains.

Mean and SD were computed for the transformed domain score (range 4–20) and for the percentage scale (score range 0–100) as specified in the WHOQOL User Manual, appendix 10.[13] The higher the domain score better the QoL. All the domain mean scores were between 50 and 60 on the 0 to 100 scale, indicating scope for improving QoL [Table 2]. Table 3 shows demographic variables associated with the physical dimension of quality of life. In the physical dimension, the younger age group (<45 years), lower social class, and participants residing in urban areas scored significantly higher score.

Table 4 shows demographic variables associated with the psychological dimension of QoL. In the psychological dimension, the participants of lower social class and those living in urban areas scored significantly higher. Table 5 shows demographic variables associated with the social dimension of QoL. In the social dimension, the

Table 1: Demographic characteristics of the participants

Characteristics	Frequency	Percentage
Gender		
Male	92	74.2
Female	32	25.8
Age in years		
<45	54	43.5
45 or More	70	56.5
Marital Status		
Married	102	82.3
Single*	22	17.7
Social Class		
Lower**	80	64.5
Upper***	44	35.5
Residential Area		
Rural	70	56.5
Urban	54	43.5
Years of Drinking		
<5	58	46.8
5 or more	66	53.2

*Represents Single, Separated, widow, and widower. **Represents a lower middle, upper lower, and lower class. ***Represents upper and upper middle class

Table 2: Domains and descriptivestatistics (WHOQOL-BREF)

Domain		Transformed scores*						
	Domain range	n score e 4–20	Domaiı range	Domain score range 0–100				
	Mean	SD	Mean	SD				
Physical	13.26	13.26	57.89	9.31				
Psychological	12.01	12.01	50.07	11.31				
Social Relations	12.09	12.09	50.54	13.84				
Environment	12.28	12.28	51.76	8.53				

*WHOQOL User Manual (1998), appendix 10^[13]

Table 3: Demographic variables associated with physical dimension

Predictor	Estimate	SE	t	Р	95% CI
Gender:					
Female-Male	2.32	1.97	1.175	0.242	-1.59 to 6.22
Age in years:					
<45–45 or More	5.29	2.33	2.277	0.025	0.69 to 9.90
Marital Status:					
Married-Single	2.04	2.16	0.944	0.347	-2.24 to 6.31
Social Class:					
Lower–Upper	4.60	1.80	2.555	0.012	1.03 to 8.17
Residential Area:					
Urban–Rural	4.59	1.88	2.440	0.016	0.87 to 8.31
Years of Drinking:					
<5 – 5 or more	-3.33	2.22	-1.499	0.136	-7.72 to 1.07

participants who are married and participants drinking for less than five years scored significantly higher score. Table 6 shows demographic variables associated with the environmental dimension of QoL. In the environmental dimension, the participants of lower social class and

Table 4: Demographic variables associated with psychological dimension

Predictor	Estimate	SE	t	Р	95% CI
Gender:					
Female-Male	0.939	2.42	0.389	0.698	-3.85 to 5.72
Age in years:					
<45 – 45 or More	5.179	2.85	1.819	0.072	-0.46 to 10.82
Marital Status:					
Married-Single	-0.367	2.64	-0.139	0.890	-5.60 to 4.87
Social Class:					
Lower–Upper	5.515	2.21	2.501	0.014	1.15 to 9.88
Residential Area:					
Urban-Rural	4.582	2.30	1.990	0.049	0.02 to 9.14
Years of Drinking:					
<5 – 5 or more	-0.678	2.72	-0.249	0.803	-6.06 to 4.70

Table 5: Demographic variables associated with social dimension

Predictor	Estimate	SE	t	Р	95% CI
Gender:					
Female-Male	0.468	3.06	0.153	0.879	-5.60 to 6.54
Age in years:					
<45 – 45 or More	0.932	3.61	0.258	0.797	-6.22 to 8.08
Marital Status:					
Married-Single	7.160	3.35	2.137	0.035	0.53 to 13.8
Social Class:					
Lower–Upper	1.538	2.80	0.550	0.583	-4.00 to 7.08
Residential Area:					
Urban-Rural	-3.100	2.92	-1.062	0.291	-8.88 to 2.68
Years of Drinking:					
<5 – 5 or more	6.906	3.44	2.005	0.047	0.09 to 13.73

 Table 6: Demographic variables associated with environmental dimension

Predictor	Estimate	SE	t	Ρ	95% CI
Gender:					
Female-Male	0.7696	1.69	0.4562	0.649	-2.57 to 4.11
Age in years:					
<45 – 45 or More	0.9037	1.99	0.4544	0.650	-3.04 to 4.84
Marital Status:					
Married-Single	-2.9088	1.84	-1.5766	0.118	-6.56 to 0.75
Social Class:					
Lower–Upper	5.4750	1.54	3.5547	<.001	2.42 to 8.53
Residential Area:					
Urban-Rural	6.3789	1.61	3.9662	<.001	3.19 to 9.56
Years of Drinking:					
< 5 – 5 or more	0.0994	1.90	0.0524	0.958	-3.66 to 3.86

participants from urban areas scored a significantly higher score.

Discussion

Only a relatively small number of researches have been conducted on Indian patients with AUDs, despite the fact that the QoL of alcohol dependents is the most important component to examine. The SF-36 QoL questionnaire was frequently used to gauge QoL in the majority of national and international studies. WHOBRIEF-26 has only been used in a limited number of studies. The QoL is a crucial component in creating the management program and a valuable tool for interventional management. Few studies in India evaluated the association between sociodemographic variables and QoL among patients with AUDs.^[14-16] Despite being subjective, the QoL measure is more valuable than other measures in determining how well a patient responds to treatment. Foster, Marshall, and Peters also suggested that patients be encouraged to enroll in an inpatient detoxification program by using the anticipated improvement in QoL.^[17] This study sheds light on community alcohol abusers' QoL.

Participants in the current study were 45.65 years old on average, which is in line with the amount of time it takes to develop alcohol dependence.^[18] The participants of the present study were those diagnosed with mental and behavioral disorders due to the use of alcohol and admitted to the de-addiction center for a duration of fewer than four weeks. According to research, patients have a poor QoL at the start of treatment, which improves after treatment completion. Numerous studies show that after therapy, QoL scores were on par with those of the general population after treatment.^[19]

In the present study, all the domain mean scores were between 50 and 60 on the 0-100 scale, indicating the scope for improving QoL. This data is consistent with other studies, which showed that alcohol users had lower overall QoL scores than non-drinkers. Olickal et al.^[20] observed a score range from 47.5 to 56.2 and Patkar et al.^[16] reported a score range of from 34 to 38 among the alcohol users. Compared to other domains of QoL, the physical domain had the highest mean (SD) score in this study. This finding is similar to another study conducted in South India which assessed the association of alcohol use with QoL.^[20] Numerous studies have found lower mean score in the physical domain compared to other domains.^[21] In their analysis of the health-related QoL in adults with alcohol dependence, Daeppen et al.^[22] found no appreciable differences in the physical QoL across people with various drinking habits. A frequent finding in other comparable research was that persons with alcohol dependency experienced an improvement in their mental health QoL during the 24 months of follow-up following an initial assessment.^[23,24] Giri et al.^[15] studied the QoL in alcohol-dependent men attending a de-addiction clinic in northern India and found similar QoL scores across subgroups of age, socioeconomic status, and locality. This is in contrast to the findings of the present study, wherein the participants belonging to the younger age group (<45 years), lower social class, and

participants residing in urban areas scored significantly higher in the physical domain.

QoL in the physical, psychological, and environmental dimensions was found to be significantly associated with the participant's age and was found to be comparatively poor among the older age group. The older age of the participants may indicate a longer duration of alcohol abuse. Reduced energy, sleep, and mobility associated with older age and alcoholism correlate with the poor physical domain. A similar finding was observed in a study by Morgan et al.,^[25] where age significantly negatively affected the physical dimensional scores, with older patients scoring less. With age, memory concentration and learning ability may decline. Along with the poor mental status of patients with AUD, this may contribute to the poor psychological domain in the older age participants. The environmental factors such as financial resources, health, and social services also diminish in older individuals with AUDs which corresponds with the findings of our study. Lahmek et al.[26] used the SF-36 scale to conduct a prospective observational study on 414 alcohol-dependent patients hospitalized for three weeks. They discovered that various sociodemographic factors, including age >45, female gender, emotional isolation, and socio-professional category of laborer or employee, had an adverse impact on QoL. Another study in New Delhi found that older individuals with AUDs have substantial impairment in the work domain of WHODAS, signifying poor employability and productivity.^[14]

In the present study, no significant difference in the domain scores was observed between genders. This is in contrast to studies by Lahmek *et al*.^[26] and Morgan *et al*.^[25] which found that the female gender had a negative relationship with QoL.

In a de-addiction facility in northern India, Giri *et al.*^[15] discovered a significant link between the QoL of alcohol-dependent men and their marital status, which indicated that married men have a superior social support system. Age of onset was positively correlated with both psychological health and social relationship status. This is in accordance with the present study's findings, where the married participants scored significantly higher in the social dimension. Social support can thus be considered a crucial element affecting the QoL of persons with alcohol dependence. Psychosocial intervention can enhance social support, improving AD subjects' QoL.

Assessing QoL among alcoholics before any intervention helps to determine the effectiveness of the intervention and quantify the improvement observed after the intervention with post-assessment of QoL. It also helps to identify the domain requiring intervention and the demographic variable associated with QoL. The present study shows that patients of older age groups require intervention in the physical, psychological, and environmental dimensions. Previous studies have established that increased or chronic alcohol use negatively correlates with overall QoL, supporting the unfavorable relationship between AUDs and high QoL. Alcohol consumption disorders may also cause social, familial, and employment challenges.^[27]

Previous research had demonstrated that when participants refrained for three months or after following completion of therapy finished, QoL considerably improved in all domains.^[19,28]

Limitations and recommendation

For this investigation, we used a sizeable sample and standardized tools. There are certain limitations, though. Since the QoL was self-reported, social desirability bias and under-reporting are potential possibilities. We should proceed with caution when extrapolating study results to other areas with differing regulations or cultural traits. A cause-and-effect relationship between several characteristics and alcohol consumption or dependency on QoL cannot be demonstrated due to the survey's cross-sectional design. Other variables, such as depression and physical inactivity, which may affect QoL, weren't examined but may exist. The QoL was not rechecked after the intervention. Only the participants who were seeking therapy could be addressed in this study due to logistical problems.

Conclusion

Since AUDs are risk factors for reduced QoL, improving the patient's QoL may aid in recovery from AUDs. Thus, the desire for a better life may spur a patient's recovery. Based on the results of this study, the effect of alcoholism on QoL should be monitored by physicians, and a multidisciplinary treatment plan with elements from the medical, social, and psychiatric fields should be used.

Financial support and sponsorship Nil.

Conflicts of interest

There are no conflicts of interest.

References

- 1. Rehm J, Shield KD. Global burden of alcohol use disorders and alcohol liver disease. Biomedicines 2019;7:99.
- Rim SJ, Jo M, Lee JH, Park S. Analyzing untreated alcohol use disorder and factors related to help-seeking status. Psychiatry Investig. 2021;18:936-42.
- 3. Carvalho AF, Heilig M, Perez A, Probst C, Rehm J. Alcohol use disorders. Lancet 2019;394:781-92.

- 4. World Health Organization. Global status report on alcohol and health 2018. World Health Organization; 2019.
- Park SH, Kim DJ. Global and regional impacts of alcohol use on public health: Emphasis on alcohol policies. Clin Mol Hepatol 2020;26:652-61.
- 6. Sartorius N. The meanings of health and its promotion. Croat Med J 2006;47:662-4.
- Pasareanu AR, Opsal A, Vederhus JK, Kristensen Ø, Clausen T. Quality of life improved following in-patient substance use disorder treatment. Health Qual Life Outcomes 2015;13:35.
- Donovan D, Mattson ME, Cisler RA, Longabaugh R, Zweben A. Quality of life as an outcome measure in alcoholism treatment research. J Stud Alcohol Suppl 2005;15:119-39; discussion 92-3.
- Burgess AP, Carretero M, Elkington A, Pasqual-Marsettin E, Lobaccaro C, Catalán J. The role of personality, coping style and social support in health-related quality of life in HIV infection. Qual Life Res 2000;9:423-37.
- 10. Wong FY, Yang L, Yuen JWM, Chang KKP, Wong FKY. Assessing quality of life using WHOQOL-BREF: A cross-sectional study on the association between quality of life and neighborhood environmental satisfaction, and the mediating effect of health-related behaviors. BMC Public Health 2018;18:1113.
- Vahedi S. World Health Organization Quality-of-Life Scale (WHOQOL-BREF): Analyses of their item response theory properties based on the graded responses model. Iran J Psychiatry 2010;5:140-53.
- 12. Green SB. How many subjects does it take to do a regression analysis. Multivariate Behav Res 1991;26:499-510.
- 13. World Health Organization. Programme on mental health: WHOQOL user manual. World Health Organization; 1998.
- 14. Balhara YP, Singh S, Modak T, Sarkar S. A cross-sectional study to assess disability and its correlates among treatment seeking individuals with alcohol use disorders. Indian J Psychol Med 2017;39:40-5.
- 15. Giri OP, Srivastava M, Shankar R. A comparative study of quality of life, social support and dysfunction in alcohol dependent men attending a de-addiction clinic in India. J Psychosoc Rehabil Ment Health 2016;3:61-8.
- Patkar P, Saldanha D, Chaudhury S, Singh I. Quality of life and disability in males with alcohol dependence syndrome. Ind Psychiatry J 2019;28:262-71.

- 17. Foster JH, Powell JE, Marshall EJ, Peters TJ. Quality of life in alcohol-dependent subjects--A review. Qual Life Res 1999;8:255-61.
- Malet L, Llorca PM, Beringuier B, Lehert P, Falissard B. AlQoL 9 for measuring quality of life in alcohol dependence. Alcohol Alcohol 2006;41:181-7.
- Ugochukwu C, Bagot KS, Delaloye S, Pi S, Vien L, Garvey T, *et al.* The importance of quality of life in patients with alcohol abuse and dependence. Harv Rev Psychiatry 2013;21:1-17.
- Olickal JJ, Saya GK, Selvaraj R, Chinnakali P. Association of alcohol use with quality of life (QoL): A community based study from Puducherry, India. Clin Epidemiol Glob Health 2021;10:100697.
- Chen CY, Storr CL. Alcohol use and health-related quality of life among youth in Taiwan. J Adolesc Health 2006;39:752.e9-16.
- Daeppen JB, Faouzi M, Sanchez N, Rahhali N, Bineau S, Bertholet N. Quality of life depends on the drinking pattern in alcohol-dependent patients. Alcohol Alcohol 2014;49:457-65.
- 23. Martínez González JM, Graña Gómez JL, Trujillo Mendoza H. [Longitudinal study on quality of life, craving and psychological adjustment in alcohol-dependent patients: Variations depending on the personality disorders]. Adicciones 2011;23:227-35.
- Eshelman A, Paulson D, Meyer T, Fischer D, Moonka D, Brown K, *et al.* The influence of alcohol abuse history on the differential, longitudinal patterns of mental and physical quality of life following liver transplantation. Transplant Proc 2010;42:4145-7.
- Morgan MY, Landron F, Lehert P. Improvement in quality of life after treatment for alcohol dependence with acamprosate and psychosocial support. Alcohol Clin Exp Res 2004;28:64-77.
- Lahmek P, Berlin I, Michel L, Berghout C, Meunier N, Aubin HJ. Determinants of improvement in quality of life of alcohol-dependent patients during an inpatient withdrawal programme. Int J Med Sci 2009;6:160-7.
- 27. Armoon B, Fleury MJ, Bayat AH, Bayani A, Mohammadi R, Griffiths MD. Quality of life and its correlated factors among patients with substance use disorders: A systematic review and meta-analysis. Arch Public Health 2022;80:179.
- Srivastava S, Bhatia MS. Quality of life as an outcome measure in the treatment of alcohol dependence. Ind Psychiatry J 2013;22:41-6.